gouginooot
00000000 20120 110 200

goon

00000000000{N s, {N?}2 0000000 A p>000000000
000000000000

N, =N + NP
000000000 {N}» 0000000 A+,x00000000000

00000000000{N}» 0000000 A>0000000000000000
0000000pe (0,1)0000000000000¢t>000000000 N, 00
noooooooooooooNYoooooooo N oooooo0o00 {NY} s
(NP}5o0000000pA, (1-p)A00000000000000

000000 000 [1]00000d0o0o000000o0ooooooooo(@ooon
0000000000000 00000oooooooooon)

15
HHN@LE&NPhNﬁNﬁhEDDDDDDDL§6DDDDDDDDDDDDDD
N=NY+N®+N®oooooooP(V, =2|N,<3) 00000

0000

2] {N"}s0, IN}2oDOO0000 A\ p>0000000000000000000
O000neN, k=0,1,---,n000000000

A k [ n—k
P N(l) -k N(Q) —n—k N(l) N(Q) _ N
(4V 2 IVt n | Ny 7+ N, n) 2 Xt Y

[3] (00000000000 0000000)n=0,1,2,---,p€ (0,1),A>0,¢t>00
0000000000

i ( m ) p"(1 —p)m*new\tw _ eprtM

m! n!



